
Assembly instruction
        BX15 Box



E x 4

M6x35

I x 2

H-220mm

M8x16

    CAUTION!
Unfold carefully 
donot use knife

Trapeze steel leg
    Option*

A x 4 B x 2 C x 2

F x 4

M6x16

D x 44

LegsStandard legs Option legs

M6x16

G x 16

H x 16

M6x1

J x 12

5LB

K x 1

M x 1 N x 2

5x25

H-200mm

H 140-270mm



D

C

A



D

B

B

D



II

JJJ

JJJ

Example of legs installation 
Option legs

G

H

F

Standard legs



 5
 m

m
 

Support leg assembly

M

NN

EE

Floor



Slats instaling
*Option



    CAUTION!
Unfold carefully 
donot use knife

Mattress in cover
*Option



Mattress in cover
Box

Mattress in cover


	Лист1
	Чертежный вид1

	Лист5
	Чертежный вид2
	Чертежный вид4
	Чертежный вид6
	Чертежный вид8
	Чертежный вид9
	Чертежный вид10
	Чертежный вид11

	Лист7
	Чертежный вид12
	Местный вид B (1 : 4)

	Лист8
	Лист10
	Чертежный вид14
	Местный вид C (1 : 5)
	Местный вид D (1 : 5)

	Лист11
	Лист12
	Лист13
	Лист14

